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QUESTION 1

Ten task workers in a remote branch office access Horizon VMs running Windows 7. The workers use PColP zero
clients over a 40 Megabit per second network connection. No GPO currently alerts the default Horizon PColP settings.
Which two Horizon PColP GPO settings improve user experience and help reduce the network bandwidth needed by
each Horizon zero client session? (Choose two.)

A. Audio bandwidth limit

B. Session bandwidth floor

C. Build-to-Lossless

D. Session MTU

Correct Answer: BD

Reference: https://docs.vmware.com/en/\VVMware-Horizon-7/7.3/horizon-remote-desktop-
features/GUID-6C22A209-AFC1-47EF-9DFF-39AFB38D655D.html

QUESTION 2

Company A decided to start using GPO to optimize PColP across all their Horizon 7 Desktop pools. During the Proof of
Concept (POC) on the local network, there were no performance issues. The company decided to move to UAT. Access
from the outside network needs to be tested. Some sales staff traveling to overseas countries, where network speed is
low, have reported that the screen quality is degraded during usage.

Which setting should be recommended to retain screen quality, regardless of a user\\'s connection?

A. Configure the PColP session bandwidth floor value.

B. Configure PColP client image cache size policy.

C. Turn on Build-to-Lossless feature.

D. Configure the maximum PColP bandwidth session.

Correct Answer: C

QUESTION 3

A VDI Architect wants to optimize Blast Extreme protocol between 400 Horizon Windows clients and agents on an
organization\\'s LAN. No GPO currently makes Horizon settings to these clients or agents. What GPO setting will
improve performance of these systems?

A. Enable H264

B. Disable UDP Protocol

C. Enable UDP Protocol
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D. Disable H264

Correct Answer: B

QUESTION 4

A customer is deploying Horizon View 7.1 utilizing a Cloud Prod Architecture. The customer wants to utilize 32-node
clusters, and a single vCenter at each site to support 9,500 desktops per site.

Which two statements about this configuration are true? (Choose two.)

A. This configuration allows all desktops at a site to be provisioned from a single master image.
B. This configuration allows multiple pools to be grouped together using global entitlements.

C. This configuration requires a 64-node cluster per site.

D. This configuration exceeds the maximum supported size for a View block.

Correct Answer:. AB

QUESTION 5

A hospital is looking to introduce a new work model. Their goal is to allow doctors and nurses to access care
applications more flexibly. An important task is that Android and iOS tablets be allowed for hospital staff. The IT
department is faced with the task of executing on the requirements.

The current client environment is:

1.

Physical Windows 7 desktops and laptops

2.

2500 Windows based applications

3.

300 Web based applications, where 200 requires Internet Explorer

4,

Windows applications are managed using Microsoft SCCM

Any solution must be in production within 6 months. IT was approved to start building a non-optimized solution to get
things started. At a later date, investments will be spent on optimizing the solution. There is no time for a proper
application

assessment and user segmentation, so the solution must support as broad a user base as possible.

The main priorities for the design are:
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Time to market

2.

Change as little as possible of existing management processes
What solution would support the main priorities?

A. Deploy Horizon 7 on vSAN ready nodes. Create full clones Windows 7 VDI desktops and manage applications using
the existing Microsoft SCCM solution.

B. Deploy Horizon 7 on vSAN ready nodes. Create linked clones desktops based on Windows 10 and manage
applications using App Volumes.

C. Deploy Horizon 7 on existing SAN and use Application Publishing to allow access to all Windows applications. Use
VMware Identity Manager to allow access to all Web applications natively on the tablets.

D. Order a new physical SAN and deploy Horizon 7. Use Instant Clones Windows 7 VDI desktops to save SAN storage.
Manage applications using Microsoft SCCM.

Correct Answer: C
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